ﬂﬁPAEﬂL-Aﬂﬁlkt'tl?t
& FEEXRSE®ERGTE

13. 6.10,90°
Et+—% 2%=AF
2% ZAMLFGHRE

$51% 2%5=Aa#n %S —
.C 2.A 3. B 4D 5A 6.C 1.C 2.C
7. ABf1 AC,AD 1 AE,BD # CE 3.AC= A,C, (& /B=/B))
8. /F,CF 9. 12 cm 4.CE, NABF, A\CDE
10. AC=DF,BC=EF,BE=CF, / F=54° 5.SAS
11. 5 6. ~/CAB=_/DBA(&, BC=AD)
12. (1) AABDLAACD, 7. J AACBL ADFE
~./BAD=_/DAC. 8. L AACBLAMPN
SAD J&/ BAC #4326 9. Je ¥ ABCE2ADAE
(2)"* AABDLAACD, 10. (%)
~. /ADB= /ADC. 11, #3255 =M E
W /ADB+ /ADC=180°, 12. FI il SAS 3.8
S/ ADB= /ADC=90°, £
~AD_| BC. 1.D 2.B 3.D 4.A 5.C



DK - HF - AFA(L)

6. 1.5 cm L4 ) FH B 4% U8 W AH 45
7. 4 15, (DAHSE (DA%
8. SSS,AAS,ASA,SAS 16.
9. 3 cm 17. AC | BD, NADC 2/\ABC,DE=BE.
10. 15 cm
E+F WK

11, w55 (2) B
12. AR 4 £ 1% thatik
13. B AABEX2ACDF %3 —
4. 1l SAS Ut ¥ I.LD 2.C 3.D 4.C 5B 6.D
15. S AACEX2 ABDF 7. (W)
16. M AACDL NABE 8. T.U.A
$3% AGFoLady 9. 3
1.D 2.C 3B 4D 5B 10. (H%)
6. 120° 11. 4
7. 35° 12. %%
8. 85° 13. 10
9. (DM (2D HMH% 14. ()
10. &2 F—# 15. (W%
11. 4 cm 16. &2
12. $#il Rt AMOCLRtANOC, B A} 17. 28 cm

B3] MOC= /NOC, Jit LW 5 4 OC 5k & 18. 90°

/ AOB [ F- 51 2. %3=
13, AT 40 M o 138 B .B 2.C 3.A 4.2

«



PR

AH

5. DO®

6. 10

-3

()

8. 22 cm,30°

©

(Wg)
£2% tHixdiHAN

%3)—

1.C 2.C 3.A 4D 5D

(o2}

O FR IETIE & 3o TR i b i Y LR

8. 8 s 454y
9. 3 cm

10. 125°,140°
11. 1

12. (1)

13. (B

14. (mg)

1

(@2l

AR (DAER CRTHK L MR
C’;
(OMERM BRFHZK L XFRS B

AL EHUS AW HREAS

FANN
==

(4>J‘;Z'Eéél: A/B/\B/C/‘C/A/,I)_IJJAA/B/C/

I PSRRI = B

16. fEi:: (Dt g P AEPC La, JFEK
PC #| M {fi CM=PC;

() # P fE PD | b, 3K PD %|
N .{fif§ DN=PD. Wi M.N 2 P X
T a b XTFR A

P : VAP 5AMXTHL X,

SCHZK a BB PM L.

S OP=0OM.

] ¥, 7] 7% : OP=ON.

. OM=ON.

17. (W&

%3

1.C 2.B 3.A

4.(—6,—3)

5.5,—1,—3,5

6.(1.5,0)

7.(D(,3) (2 (—1,—3)

8. (M) 9. (W)

3% ¥RZARH
%3 —
1.C 2.C 3.B 4.D 5B 6.B

7. /CAD,CD



DK - HF - AFA(L)

8. Zid IS F PRI H R A
9. fEIX AR H &
10. 15 cm 5 18 cm
11. 100°5 30°
2. WM MIRI K o cm, ) H P
KH(x+2) em, RIFBEMH 2(x+2) +a=
16.ff# 1 v =4. Fr LA S E =B =K
H 4 em.6 cm Al 6 cm.
13. /B=72°
14. BE+CF=EF
15, MIWMFE =M =K G "1
Jit . S = I8 ABC i1 BC ERHZ DA
e TR BCCRPAR %), 4 2R B B o 4
AU EZ AD 5 FKFL B4 KK
BT AR T W N S —
HRA - FHLSCHELER.
%3
I.LB 2.B 3.D 4.D 5D 6.C
7. 72°,72°,36°
8. 4,48 6.2
9. 7
10, 48 K, A8/

11. 7,7,10 8 9,9.6

12. ()

13. 14§

14, (D AAMN &4 18 = 4%

(2) ST

15. B %07 RtAABC #1. /A=90°,
~/ABC=2,/C,BD & /ABC ) F- 4 2. iX
Pl . CD=2AD.

" £ RtAABC 1,

S A=90°, LABC=2/C,
S/ ABC=60°, /C=30".
N BD &/ ABC W54k,
s/ ABD=_/DBC=30".

.‘.AD:%BD,BD:CD.

S CD=2AD

16. ** ANACM 5 ACBN J& % ih =
FIE.

~./ACM=_/BCN.

5. /ACM+ /MCN=_/BCN+ _/ NCM,

Bl ACN=_/MCB.

7EAACN FIAMCB

JACMC,

LACN=/MCB,

CN=CB,



S AACNLAMCB(SAS).

S AN=BM.

1 1
7.(125 (21 (D 3 D 5
8. 17
9. 63 m,21l m

m—+n

n

10.

L1 fE. PR B T 213k 1 5 B2 O /45

>6(m).
2% 274K

1. ’\3/_ 9_%9 —3, —1

2. D 3. C
4, >
5. 3.98 m

6. 8 cm

8. 1354 cm’

9.(1)10,10%,10°

(2)10,10%,10°

— I V" =a", VT =a" (a>>0)

10. (1)6.321,63. 21,0. 632 1,0. 063 21

(2D BTFI7 By /N A 1) 2 o) o
Bl AL B AR T M /N B S AH I 1] 2
gl 1) 41 8% 8l — 1

a
(3)844. 3;1 OOO,IOa;O. 010 404

(OB T3 B /N B 1) 22 1) A7
B =3 3L J7 AR /N BRI I b 1) 2 B 1)
fiksh—AL

(5)40.78,—0.040 78;—1 000 a

A

£3F% £ #

1.C 2.B 3.D
4. 2 /10—7,7—2 /10
5. 43f—1

6. 245

2J2+1



DK - HF - AFA(L)

10. (D1.8 m (2)1.82 m

L1, e o 45 0 T 8 0T A 2R A

o 5 0 2K
20 s
B

30 30

Al 40 |20
DAB = /50 +40°= /4 100,
@®AB=/60>+30%= /4 500,
S.AB <<AB.

B Y SR R R A BB S 10 /41,
12. 12

13. 2Ca+b+0o)

F+HNE —XEH

£1% Tz ha#s
%3] —
1.A 2.C 3.D 4.A 5. B
6. y=0.1x
7.V=10a",2
8. y=15—a,0< <15

20—1

1—=x

9. yx#~1

10. y=180"—2x,0°<x<C90°
11. t=20—6h,7 5 & h.t
12. (W)

13. y=3000—2.52,100<Cx<C1 200
14. y:%.r+900,00<x<1800

%3

1.C 2.A 3.D 4.A

5. ®.0.0.0

6. 0.5

7. —1,KR1E

8. (16 000,12

(2)2 000

(3 T0CHE 7R « $R 2 R 1 die g ol M A IR
s+ U A B AR SR I ] S kA A AR 3R BB K
P I 45 26 A TSR A3 Q 5 ¢ Z IR] i1 bR
HZ Q= —500+6 000, LA BIATSR)

9. (KElms)

10. fth & ¥ St 3 B IF & & B 1 - A 3L
I Ik 40°C R AF 6 I EAIR S IEH T

1. (D5 A4k AR 120 m.10 F f
B KA J& 140 m

(2 5 8 KA 42 160 m, 7E 8 Ay Ak



KA 80 m, 8 1 H 5y

(3> 3 A 12 J 4y

12. (DH/NFERIZK 800 m Kb ilf 3 [7] 2
AEHR T K #4510 min i i)

() PR KLY BIFK 400 m

) /INTER M2 )5 Il KX B Fe vh ok
G353/

13. 2,#4%,80 h

14. (1)24,24,27,30,33  (2) (W)

15. W =2 400 — 30z, ¢ F¥ BU(E 78 B &
0180, (JE M%)

16. (Dy=z—0.6(x=3)

() 2 A BIHL 4.5.6 BF, v BYE 45 5
H3.4,4.4,5.4

£2% —~%h&HK
%3 —

1.B 2.D 3.B 4.B 5D 6.C

7.C 8.B

9. ZkBt.12, —12

10. &>2

1. >

12. y=—3x

13, m<<—1

14, S5 R
15. k=112
%3
1.B 2.B 3. y=—2z—1

4, y:—%f—l

. (670) ’(0773)
6. B _RR

7. — 8. 4<m<<5

1
+
9.f2

10, y=—a2—1

(o)
ol
(al

13.

14, (1) y=50x+1 500(x<<40),y=

100x—500(x=40).

(2) W NE 45 RIFIE AT N THEE.
15. (1) s=300—60¢

(2)0<1<5
_10
3)t= 3 h

16. (1D y=10x(0<x<<10) , y=6x1+40

»
7



DK - HF - AFA(L)

()Y 6.5 kg A1 28 kg B, v 43 4

2%% 65 JLAN 208 JT.

><\f

(3) ()

17. (DW=9 020+ 10x{$E/R: HJ iz
B 20— . &) s A Hh (17 —
O TW B4 B[ 25— (17— M

(O™ 20 AWzt B#, &) i81E A
Mo 17 J7B 24 B M 8 W (BRUR I X
B FBEEE R 0<<2<<17.2 = B/

i 0 IF, W BY{H 9 020 f/]M)

£3% ASKALLFFE(M)
5 F % K
1.D 2.B
3. 16
4 O,%
5. —1<a<2
6. 1.5 m
7. 10
8. y=tr—4 B y=— L z—3
3 3

10, (Dk=—3
(D k=t /10
(3) —3<<k<3
(k=4 (k>3

1o 2|_2
11. <1>S—2><\ 2\><‘3‘ 3
@>§31—2>oﬁnx>§ﬂ¢@cw;§

3x—2=0,8/ x:%ﬁﬂ’,yzo;ﬁ 3x—2<<0,

WI<%ﬂty<o

12.(Dy 5 ZEMEF RN y=
1802 (2=0)

(4 y=1 620 fLARBRRRX y=
180x,75 1 620=180x, fif#f5% =9, W 43 T
1620 mL JKf /NI IF K JE K 9 /NI

13. (DHAF :y=900+0. 5z,

LANF]  y=0. 8.

(2)24 0<<x<3 000 B}, ¥ 2 A A& 5
2 x=3 000 Bf, EH S A 9% FH— #4524
3 000<<x<<5 000 M}, EH | H 5.
14. (1) y, =5x+1 500

(2)3}2 :81,'

(3) LA 500 AN FRE S 5 20



FDTF 500 ANEFL RO ARG E Mo E
F 500 0L, H A FE A E.

15. (Dyp =9x(x=3 000),y, =8x+
5 000(x=3 000)

2)Y ypy=y, B,18 92r=8x+5 000,
fif 14 = 50005 Y4 yo <y, B, A
JI}?) 000,

fitf3 3 000<<x<<5 000;
191‘<81'+5 000,
JI>3 000,
M oyp >y, B A
191>81+5 000,
f#18 2>5 000.
Fir LA 4 K5/l 5 000 kg B, PR AP

TR — R MK R 3 000 kg<<x

<<5 000 kg M, 38 £ J5 A 3R s 2

=

SR TF 5000 ke I L 4% 297 K M

~
"/

=1
&

F+HEE BANRKSENXSHE

V23

£A1F £XGR
%3 —

1L.C 2.A

3. 10

4. 4,6,9,a",d*

6. (LHx" (2) (a—b)°
7. (D2t —2°
(2)—52%y"

(3)—1 000
7l 7718 .3
4) 9abc

8. (14 (2)29

%3

5. (1) —4x?y* —122° y*
(2)—x—5y

6. 4.8X10"

7. (Dm® +4dmn-+4n?
(2)x* —a’

8. 19_6

10. 42°y°

11. 62° +62*y— 32’ y—ldary+12y°
12. —2

13. n* (nt+2)+1=n+1)*

14 I”Hil



DK - HF - AFA(L)

16. n(n+7)—n(n—5)+6=602n+

DL FrLLRERYL 6 BEBR

23 2

F2% REL-KX
1.D 2.A 3.D 4.C 5.D
6. —3x+4y
7.a"—b*
8. 16
9.(36+12a) cm®
10. 4y°
11. 2ab  12. 2a*+8b°

13. (1)9y* —4x*

(2)x' =292 4100

14. (D152+19

(2)—16x+21

15. 14

16. 6 GEZLHF 5 22 A0, 858 2™,
RIS 57 £ 6)

17. 14

18. % 2" —2x+y" +6y+10=(x—1)*
+(y+3)2=0,

sex=1,y=—3,

10

Laty=—2

V23

A3 %
1.A 2.D 3.D 4.B
6. 4,—z°
7.a%2

8. —1.3

9. 3ab’c

10. 5a*b°

11. 64’6’ —3a'b' +9a*b*
12. (H—a"' (2)0

13. a

14. (1) —16m°n'

(Dx—y

16. 42° =327y +2xy"—1

17. 2.6X10% kg

V73

$4% A4 #®
I.LB 2.C 3.C 4.D

7.a—b

o (o)

9. (x+ D (x—1D)?

2

¥ K 0 %ok

5.B

5.C

6. A



10. +12 15. 2 em 8 5 cm

11. (1) —3ma(a®* —2a+4) 16. /A= _,/C® /B=_,/D 8 0D =
(2D mGn—n) (2n—m) OB % AB //CD

)zt —xy—x—y) 17. i E s

(DH2a—b)"(a—b—2) A A

12. (D (z—y) (a+b)(a—b) A\

(2)(2—32+3y)’ ; N

B
(3)4(2a+b)*
EARME—, . AB=AD, /BAC
Bbv(}iﬂa%)
=/ DAC=BC=DC
14. 0
19. 0

15, -

3 2 5 (2)(@%) (3)Spasc =5
16.(1)1 (2)§ (3)@

21. ﬁg ;J:EEI Tujﬂ7 9km/§’§§'

n+1
2n RN 11. 2 km/s.
PRy YO 22. %f. BH“ASA” 5 HAABCLAABC,

1.C 2.B 3.B 4B 5B 6.D FF L AB' =AB.

7.C 8 C 9.D 10.A MR 4% 6 %
1. +14 LD 2.D 3.D 4.C 5B 6.C
12. 0.1 7.D 8.B 9.C 10.C
13. $IE ZEIE (IETTE 11. —(/3—V2)
14. 30 em 12. 0.069 93
»
11



DK - HF - AFA(L)

13. BEAME—, I y=—a—1 25. 7EANABE #1/ACBD 1,

14. y=180°"—2z “*AB=BC,AE=CD,BD=BE,

15. 6 16. 9 S ANABE2/A\CBD,

17. B R HTIR ~. /ABE=_/CBD.

18. 1 " AB_| BC,

19. OA=0C,5 OB=0D, 5 AB=CD S/ ABC=90°.

20. y=5002+300,300 JC VW /ABE= /ABD+ /DBE, /CBD

21, —2 = /ABD+ _/ABC,

22, A XTFTHLa WAFREA & S /DBE=_/ABC=90".

45 A'B 5 HZ a M58 2 B0 R TR S ~.BD | BE

23. (Dy=2x+1 26. (1D 2<<6 Bf,y=0.62; 4 2>>6

(2)y=—1 B, y=6X0.6+1X(x—6)=x—2.4

(3)1:7% (2) ¥ 2=10 R A y=2—2.4 187. 6JC
27. BWQ hy+h,+hy=h;

24. (DRAHAXE: 2
K@ hy +h, —hy=h( BH S

(2)2 005, (14a)*°°

(3)(A+z)"!

i (ESM SR ERTHIEE M i
+ B VG O VI K 22 20 AR A ML - hetp: //www. snupg. com |
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